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Question 1 (5 marks) Various data was collected from 30 maple trees in a maple syrup farm.
Classify the following variables by filling out the table.

Variable | Qualitative/Quantitative | Nominal/Ordinal/Interval/Ratio
Amount of sap excreted (ml/day) QUANTITATVE RATIO ‘
. , ‘ 1 ! |
| Quality of syrup produced L . .
A (best), B, C, D (worst) QUALVTATINE » O RCLL N A L’
Type of maple (silver, red) QUALITATIVE, NOM ird A L)
Temperature of soil at base of . .
tree (in °C) QUANTITATIVE Il\/'TQ:Q\/)A(J
Height of tree (cm) BUE TITATI Ve, ' RATIO

Question 2 (15 marks) Here are the 30 measurements of height that were observed (in cm):

150 164 172 173 181 180 180 190 193 193 231 155 167 168 171
170 174 182 184 194 161 166 171 175 176 162 193 185 188 172

(a) Sort the data using a stem & leaf display

(b) Find the sample mean x

(c) Find Pgo

(d) Find the total variation, SS(X)

(e) Find the sample standard deviation, s -

(f) Calculate the z-score of the smallest and largest data values.

(g) Are there any outliers in the sample of 30 trees? Justify your answer.

(h) What % of the data falls within one standard deviation from the mean? Is this consistent
with the Empirical Rule?
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